Math 9

Name KEY

Solving Equations with Distribution & Like Terms

peveLoP - Solve each equafion by first distributing.

oYy
1) 5(1 +5x) =55
Z+25x =55

-5 -5
26x = 50
724 2S5

==zl
3) 51 +5) =72

-Z + ISr="12
+ 5 +3

18T =15
- L)

r=95
S
5) 5(56-5) =175
25p-2% =15
+25 +25

b =100
e

7) 12 =42+ 4%)

2= B +lbx
-8 -8

~Bo = x

x,
12 2
-5 '-‘—x

9) 51=3(=4v +5)
Si=-12v + )8

-1S - )5
3b = =1y
-12 -z
11)I—60 = 3| !- nYs)
o ==Y -15
+15 +15
45~
-a  -A

5=rn

2) 4(2n+5) =52
Bn+205 =52
- 26 -20
B = 32
o)

e

2

N =Y

4) 3(4Em ¥2)=s4
12e ¥ £ =54
- -b

6) @):80
15 + B = BO
-& -5

\Fox =15
2

!x= S |
8) —52=-2(1 —5n)

=52=-Z + 10N

*+2 +Z
-so= 1o
=) 1=

-5=n
10) 96 = 4(%— 5n)

Qb =\¥ - 20~

-b -V
go = z2oh
=2 -20C
—I.‘ =l N

12) —90 =-5(3 + 5v)
-9p = - 18 -25v

+15  +B

-5 = -28v

~25 ~35
d =V




peEveLOP: Solve each equation by first collecting like terms.

13) -4n+n=-6
A4

-Zn=ck
-¥ -3
Nn=24

15) Sn+4+1=-10
: v

S+ B=-10
-8 -5
=45
22

17) 5=x+2+2
v

S=x+

=2

19) 4x+4x=5x-6
v
Bx = 5x-b
-Sx =9

Bx=-b
3

[ = -2

21) 1-4n=—5m+3
+5n +ton
A+n=23
X -

GER

23) 5p—5=3p+5
3p  >p

14) 3x - 5x=4
A4

~Zx =4
-Z -2

o =-2

16) 6 =2m — 4m
N/

= —2Zre

—_—

-2 ~Z

-d=r

18) -1=n+3-3n
\ I

“1==-2n +%
-3 -1
-yz= -

()
=2 A

2=2r

20) 3p+1=p—7
f’P -
2p4A = -7
Pf;(‘ w

=-8
ag="p
=-4)

22) T+2x=1-4f
+4¢ +>V$c

7;bx=l
A -4

gx=-b

24) x -3 =>4x+7
44 AT

5x-Z ="
+4 13>

Fx = 10
2 5
2




PRCFICIENT

CRYPTIC QUIZ

1. Why does Beethoven now spend all his time erasing music?

H ETIT S DEC_COM®POSIT N
16 6 -4 10 -3 6 -9 7 20 -5 7 10 -4 3

op

2 What is it called when a sea bird lands on a channel marker?

P U O Y M €E E T S g J L L
-3 9 7 -8 20 6 6 -2 10 21 9 11 11

3. How does a tree feel after a hard day at work?

AP U S H E D
36 9 10 16 6 -3

' TO DECODE THE ANSWERS TO THESE QUESTIONS:

Solve each equation below and find your answer in the code. Each time the
solution appears, write the letter of that exercise above it.

© su Bu=3+35 Suete =] ® 14p-8=22+20p bp=20 [p=-5]
®+7v=33:;/;v wez f=2] © z+gr=92-7 Feee [220

actds=10x upege E=c) § (V) 2 dow= Sjo }iﬂu.%,.z
5t—26=18t -20-1Zt [E-=2]% (C) —15v—40= -
@ s o=t e E2]} © 1y p0=2al 2ot

(D k=8k+28 -Fk=2e ||¢_fql (M) 63-x=2+3 -Zx =-to

-8k -7 ¥~ X3 - =3

© -80n=-27m-63 - - (©) 3n+46=1+81 -Zn=-us

+277M .3 -3 -Br-H -4~ BN % -5

@_‘gtﬁ’—zxmﬁ 2x=22 :jx |b§§ (B) 12r=18=13r+18_/r=3c .[r=-3b]

—13r 348 13T +18 / pry

©) oy -1= y 2 %ﬂ[\/ -5] @ —x/f X e E"_—__"S_—‘

-—\/ +'/ £ +1 - -2
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Solving Equations with Distribution & Like Terms

Name

EXTENDING : Solve each equation by first collecting like terms.

1) 8-5n—7=-17+1-4n-8
=15 =515 = -4 -2.4

+. o + S
-I1S = N -2+
+24 g
Q =n|
1343 7 15* o
3) o _x=x4— 4=
120 6 4"5 5,.; bs%‘gl
1BU3 _ /-y B3 20120 ¥
. £ = GF = T3
ok )
243 _ 2, , 8
(p X =] o
~83%6 -8
20% b O _ n
8us = L¥x x = 3y
o f__ :
—_— 1
L0
= 2
g 8 23 9
Sign+—=—+n
)s3 s t%
T gn 3,-5 _-I1s
X 23 R}
EEE=T
-g -8
S
% ~ - E:s
‘g’ -9
s
3
P==-3y
7) —5.6x+4.2x=12.76 — 3.6x S5.b 3.6
N “4.2 -

“hHx =126 34 !

. 2.
+ 3. +3 bx
5-
2EX=206  22(Fo0
;«% 2.2 -1y O
176
x=9.8B -\ 6

+§b z/ :ag/b
"'E - =22 = 7
tzb+ = s g D R |
2/ —2—*3 b ”\ b
- =28
Aoz
A BE
5 1
b= -1
6) 1.1x+1=-4.59 —02x"
+0.2¢ +o.2C
1.3 +4 = -4.59 ) 4.3
-A ol | I.éiséq -
-5 2
léx = - .S ' 39
B -3 -39
; o
X =-4.3
8) 148 —42v=1—4S8v
+"’~BV +%V
B+ 0.y = | 0.8
—L48  C1MB g foas
-4
v =-0.48 —-g
O ©.6
= —-0.9

-1-

2) -1+8a=8-7-6a-2

“1+8a= —lert -1
+oa ‘e

>t + \Ha = -\
3T + )
l_';f_c_;_-‘—_Ci
My

[G=o]

SEIE I N
2 -2 6 2




EXTENDING : Solve each equation by first distributing.

9) —(1-35)=8(6+38)

-1+3b= Bb+ bM
-3  -3b

= Sk &4

| "'Uq
-5 = Fb

(=3 =

-132=b

11) E=—4(-x—l)

3
52 8 ‘ix+§/ : e

L
»t
'w
g

' 2\
289721289 | . ga

=
-
15) —124 =5(5n—4.3)

=24 = 25N =215

+21.5 s
3 ]
B 1z4'!o zsﬁg;‘.'.?'
-102.5 = 28n -21.5 oo
2s ¥ 102.5 -
22
-4H.1 =~
17) —6.68 — 3r = 1.6(r — 1.3) e b.6B
~b.b®-3r=l.br -2 op f'—-;- -2.08
+2.08 3T +3C +2 8 +'.Z£ 4 .60
) 208
-4H4.b T Yr
-4.b b

10) 3(-1 - 6r) =-3(-2 +37)

2
z

“3-18rF = b-Ar

BT +IBC
-3 = &+ ar
-b -6
-9 =gc

a 4

5 = '2§-L‘i_q|
5 -

a1 _ay_ 'ar e

z"fgn ?"srr;'s

- e 1

A1 A

5=n

Ny 5 _“eSZ ;B 2 98
qg_ Sp="83p+2 I T
-y +bSp *‘;’5/ -ns S & Lo 1§
73 e P 5 HEBTUBTG8 _

1)
w5
“' I

16) 54.02=3.7(2.9 - 3.97) 3.9 3.7
84.02= D33 - M.43n "_7:_: x3.9

C _ 33 333
15.713 1093 +990 ' ? .
H3.29=-jus5n  'O73 yu3
-MH3 Tlgga S '

: 103 \Hi’ﬁ;‘ﬁ'
[=2=n 43.29 Y339
' O

[ ]

18) —9.27 +2.8k=3.9(k— 1.7) 3.9 97
—A.217142Bk =3 Gk -b.e3y XL -e.ed
+b.bd -2BK -2.8k+6.b3 ;—"i 2.4

q
2,4 =Tk ces
V. Pl 2.4
1102, 4
-2.4=k =2
/ 9y
v -4y



